The Mystery of the Easter Bunny Costume Answers

Clue 1
400 + 387 = 787 correct

299 + 400 = 799 incorrect
510 + 300 = 810 correct

259 + 500 = 659 incorrect
567 — 200 = 367 correct
333 — 300 = 33 correct

676 — 300 = 376 correct
899 + 300 = 1099 incorrect
606 + 400 = 1006 correct

The costume wrecker is female.

Clue 2
BLACK HAIR WAS FOUND

Clue 3

4 x8=32x10=2320+ 1000 = 1320 - 400 = 920 + 80 = 1000 + 10 =100 - 1 = 99
3=

33+ 27 =60

The culprit is in their sixties.

Clue 4

A dog lead was found on the floor.



Clueb5
3x10=30

160+4=40
36+4=9
5x9=45
54+6=9
50x3=150

6x4=24
100+10=10

80 x 3 =240
8 x 8 = 64
180+2=90
36+6=6
2 x24=148

PRAWN COCKTAIL

The Easter bunny costume wrecker is: Doris Clubb



